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0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do {i} 12:do {j}
4: r[] R1 F2 {❀ F2i4} 13: r[] R3 F1; {❀ F1

j
13}

5: r[] R2 T {❀ Ti5} 14: r[] R4 T; {❀ T
j
14}

6:while R1 ∧ R2 ̸= 1 {iend} 15:while R3 ∧ R4 ̸= 2; {jend}
7:skip (* CS1 *) 16:skip (* CS2 *)
8:w[] F1 false 17:w[] F2 false;
9: 18:
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�

G. L. Peterson. Myths about the mutual exclusion problem. Inf. Process.
Lett., 12(3):115–116, 1981. doi: 10.1016/0020-0190(81)90106-X. URL
http://dx.doi.org/10.1016/0020-0190(81)90106-X.

1: {true} 10: {true}
... ...
7: {¬at{16}} 16: {¬at{7}}
... ...
9: {true} 18: {true}
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read xwrite x write x�����������
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write x
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0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7:skip (* CS1 *) 16:skip (* CS2 *)
8:w[] F1 false 17:w[] F2 false;
9: 18:
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Domain of sets of candidate executions

Domain of sets of histories 

Domain of sets of executions 

Domain of sets of interleaved traces

!e

!h "h

"e

!c "c

!h

Invariance domain

!i

"i
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• ����� ��
w0

�! "# $
� � �;

w0
�! "# $

� � �−−−−−−−−−−−−→ ⟨{� ← w0
�, � ← w0

�}, ��{�� ← 0}, ���{�� ←

0}⟩

r1�! "# $
����� �� �−−−−−−−−→ ⟨{� ← w12

� , � ← w0
�}, ��{�� ← 1}, ���{�� ← 0}⟩

r11�! "# $
������ �� �−−−−−−−−−→

⟨{� ← w12
� , � ← w2

�}, ��{�� ← 1}, ���{�� ← 1}⟩

w12
�! "# $

������ � �−−−−−−−−→ ⟨{� ← w12
� , � ←

w2
�}, ��{�� ← 1}, ���{�� ← 1}⟩

w2
�! "# $

����� � �−−−−−−−−→ ⟨{� ← w12
� , � ← w2

�}, ��{�� ← 1},
���{�� ← 1}⟩
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� ��������������������������������������������������
���������rf�⟶�������������������������� 
⟨𝑟�𝑤⟩∈�rf ⟺                                 ∧  

� �������������������������������������������������������
������������

� ����������������������������������������������������
����������������⟶�������������

��

τ = τ0⟨ν, . . .⟩ r−→ ⟨ν ′, . . .⟩τ1 ν ′(�(r)) = w�
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rf

11:,r2=0

12:,r2=1

13:,r2=1

1:,r1=0

0:, start

2:,r1=1

3:,r1=1

��
w0

�! "# $
� � �;

w0
�! "# $

� � �→

r11�! "# $
������ �� �→

w12
�! "# $

������ � �−→

w2
�! "# $

����� � �−→

r1�! "# $
����� �� �−→



���������������������������������������������������������������������������������������������������������������������������������������������������������������������� ���������������������������������������������������������

�����������������
� ����������������⟶���������������

� ��������������������������������������������������
������������������������������������

��



���������������������������������������������������������������������������������������������������������������������������������������������������������������������� ���������������������������������������������������������

�����������������������lb

��

��� � � �� � � �� �
�� �� �
����� �� � ������ �� ��
����� � � ������ � � �
�� ��� �

rf

11:,r2=0

12:,r2=1

13:,r2=1

1:,r1=0

0:, start

2:,r1=1

3:,r1=1

��
w0

�! "# $
� � �;

w0
�! "# $

� � �→

r11�! "# $
������ �� �→

r1�! "# $
����� �� �−→

w12
�! "# $

������ � �−→

w2
�! "# $

����� � �−→



���������������������������������������������������������������������������������������������������������������������������������������������������������������������� ���������������������������������������������������������

����������������������������
� �����������������������
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� �������������������������������������������
� ��������������������������IW in 𝜏0

� ������������������po  ⟨𝑒,𝑒'⟩�∈�po ⟺ 𝜏𝑖���𝜏𝑖'⟶ 𝜏𝑖'' ⟶ 𝜏𝑖''' 
⟶���������������������

� ������������������ 
�����⟶����������

��

τ0

n!

i=1

τi, ��

𝑒 𝑒'
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co�������
"co.cat" 

let fold f = 

  let rec fold_rec (es,y) = match es with 

  || {} -> y 

  || e ++ es -> fold_rec (es, f(e,y)) 

  end in 

  fold_rec 

   

let map f = fun es -> fold (fun (e,y) -> f e ++ y) (es,{}) 

let rec cross S = match S with 

  || {} -> { 0 } 

  || S1 ++ S -> 

      let yss = cross S in 

      fold 

        (fun (e1,r) -> map (fun t -> e1 | t) yss | r) 

(S1,{}) end 

let co0 = loc & (IW * (W\IW)) 

let makeCo(s) = linearisations(s,co0) 

let same-loc-writes = loc & (W*W) 

let allCoL = map makeCo (classes (same-loc-writes)) 

let allCo = cross allCoL 

with co from allCo 



���������������������������������������������������������������������������������������������������������������������������������������������������������������������� ���������������������������������������������������������

���������������������������
������������������������������
����������������������������
����������������������

��



���������������������������������������������������������������������������������������������������������������������������������������������������������������������� ���������������������������������������������������������

✘

����������������������
� �����������������������������������������������������
����������������

� lb�

��

✘

����� ��
w0

�! "# $
� � �;

w0
�! "# $

� � �−−−−−−−−−−−−→ ⟨{� ← w0
�, � ← w0

�}, ��{�� ← 0}, ���{�� ←

0}⟩

r12�! "# $
����� �� �−−−−−−−−→ ⟨{� ← w12

� , � ← w0
�}, ��{�� ← 1}, ���{�� ← 0}⟩

r11�! "# $
������ �� �−−−−−−−−−→

⟨{� ← w12
� , � ← w2

�}, ��{�� ← 1}, ���{�� ← 1}⟩

w12
�! "# $

������ � �−−−−−−−−→ ⟨{� ← w12
� , � ←

w2
�}, ��{�� ← 1}, ���{�� ← 1}⟩

w2
�! "# $

����� � �−−−−−−−−→ ⟨{� ← w12
� , � ← w2

�}, ��{�� ← 1},
���{�� ← 1}⟩
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� ���������������������������������
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� ���

��

rf

11:,r2=0

12:,r2=1

13:,r2=1

1:,r1=0

0:, start

2:,r1=1

3:,r1=1

��
w0

�! "# $
� � �;

w0
�! "# $

� � �→

r12�! "# $
����� �� �−→

r11�! "# $
������ �� �→

w12
�! "# $

������ � �−→
w2

�! "# $
����� � �−→

✘

π�

rf
w

r

π�

π�

π��

✗

✓

rf

w

w

✗

rf
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� ��������������������������������������������������������
�������������������

� ��������������������������irreflexive po ; rf ; po; rf

��

rf

��
w0

�! "# $
� � �;

w0
�! "# $

� � �→

r12�! "# $
����� �� �−→

r11�! "# $
������ �� �→

w12
�! "# $

������ � �−→
w2

�! "# $
����� � �−→

po po

IW
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{ x = 0; y = 0; } 
 P0       | P1       ; 
 r[] r1 x | r[] r2 y ; 
 w[] y 1  | w[] x 1  ;

✔

✔ ✘

✔

J. Alglave and L. Maranget. herd7. virginia.cs.ucl.ac.uk/herd, 31 Aug. 2015.
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✘

J. Alglave. A Shared Memory Poetics. PhD thesis, Université Paris 7, 2010.

J. Alglave, P. Cousot, and L. Maranget. Syntax and semantics of the cat
language. HSA Foundation, Version 1.1:38 p., 16 Oct 2015b. URL
http://www.hsafoundation.com/?ddownload=5382.
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� ����������������������������

� ����

� ����lb� 
 
�����lb����������lb

��

let co = (IW*W) & loc
let fr = (rf^-1;co)
acyclic po | rf | co | fr as sc

acyclic (po | rf) as lb

let co = (IW*W) & loc
let fr = (rf^-1;co)
let po-loc = po & loc
acyclic po-loc | rf | co | fr as scpv

let ppo = po \ (W*R)
let rfe = rf & ext
acyclic ppo | rfe | co | fr as tso
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� ���Lisa�

� ���������������������������������������������������

��

{ x = 0; y = 0; } 
 P0       | P1       ; 
 r[] r1 x | r[] r2 y ; 
 f[dep]   | f[lw]    ; 
 w[] y 1  | w[] x 1  ;

{ x = 0; y = 0; } 
 P0             | P1       ; 
 r[] r1 x       | r[] r2 y ;
 r2 = xor r1 r1 | mfence   ; 
 r3 = r2+1      |  
 w[] y r3       | w[] x r3  ;

����
����������
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cat
� �����������������������������

� �����������������������������

� �����������_������������������������������������������������
���������������IW���������W�������R���������F���

� ������������������po����������������������

� �����������������������rf�������������

� ������������������������loc��ext,…

� �����������������������������*�;��|��&��\��+��^-1,… 

� ������������������������������������������������������������
���������irreflexive r, acyclic r, empty r, not 
empty r 

��



���������������������������������������������������������������������������������������������������������������������������������������������������������������������� ���������������������������������������������������������

����������

��

let fr = rf^-1;co 

acyclic po-loc | rf | co | fr as scpv 

let deps = addr | data  

let rdw = po-loc & (fre;rfe) 

let detour = po-loc & (coe ; rfe) 

let ii0 = deps | rfi | rdw 

let ic0 = 0 

let ci0 = ctrlcfence(ISB) | detour 

let cc0 = deps | ctrl | (addr;po) 

let rec ii = ii0 | ci | (ic;ci) | (ii;ii) 

and ic = ic0 | ii | cc | (ic;cc) | (ii;ic) 

and ci = ci0 | (ci;ii) | (cc;ci) 

and cc = cc0 | ci | (ci;ic) | (cc;cc) 

let ppo = ii & R*R | ic & R*W 

let dmb = fencerel(DMB) 

let dsb = fencerel(DSB) 

let fences = dmb|dsb 

let A-cumul = rfe;fences 

let hb = ppo | fences | rfe 

acyclic hb as no-thin-air 

let prop-base = (fences | A-cumul);hb* 

let prop = (prop-base & W*W)| (com*; prop-base*; fences; hb*) 

irreflexive fre;prop;hb* as observation 

acyclic co | prop as propagation 
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invariance proof
Scom !⇒ Sinv

inclusion proof
Hcom ⇒ Scom

consistency proof
M ⇒ Hcom

algorithm A

invariant
specification Sinv

communication
specification Scom

concistency
hypothesis Hcom

consistency
model M

algorithm A
proved correct

w.r.t.
Hcom and Sinv
Hcom !⇒ Sinv

algorithm A
proved correct

w.r.t.
M and Sinv
M !⇒ Sinv
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invariance proof
Scom !⇒ Sinv

inclusion proof
Hcom ⇒ Scom

consistency proof
M ⇒ Hcom

algorithm A

invariant
specification Sinv

communication
specification Scom

concistency
hypothesis Hcom

consistency
model M

algorithm A
proved correct

w.r.t.
Hcom and Sinv
Hcom !⇒ Sinv

algorithm A
proved correct

w.r.t.
M and Sinv
M !⇒ Sinv
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� ������������������������������������������������
������������������������

��

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:repeat {i} 12:repeat {j}
4: r[] R1 F2 {❀ F2i4} 13: r[] R3 F1; {❀ F1

j
13}

5: r[] R2 T {❀ Ti5} 14: r[] R4 T; {❀ T
j
14}

6:until ¬R1 ∨ R2 = 1 {iend} 15:until ¬R3 ∨ R4 = 2; {jend}
7:skip (* CS1 *) 16:skip (* CS2 *)
8:w[] F1 false 17:w[] F2 false;
9: 18:

�������������������� ����������������
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k0 kn−1, kp ��, k1

τ istart

τ ipτ i0

× Γ i

τ i1 τ in−1

ςi = i ∈ ∆},

⟨κi
0, θ

i
0, ρ

i
0, ν

i
0⟩ ⟨κi

n−1, θ
i
n−1, ρ

i
n−1, ν

i
n−1⟩

⟨ℓ, θip, ρip, νip⟩
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����� �����
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k0, . kn−1, kp ��, k1

τ istart

τ ipτ i0

× Γ i

τ i1 τ in−1

ςi = i ∈ ∆,

⟨κi
0, θ

i
0, ρ

i
0, ν

i
0⟩ ⟨κi

n−1, θ
i
n−1, ρ

i
n−1, ν

i
n−1⟩

⟨ℓ, θip, ρip, νip⟩
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αa({πi | i ∈ ∆}) !
$

p∈Pi

$

ℓ∈L(p)

%

i∈∆

{⟨κi
0,k0

, θi0,k0
, ρi0,k0

, νi
0,k0

, . . . ,

νi
p−1,kp−1

, θip,kp
, ρip,kp

, νi
p,kp

,κi
p+1,kp+1

, . . . ,κi
n−1,kn−1

, θin−1,kn−1
,

ρin−1,kn−1
, νi

n−1,kn−1
,Γ i⟩ | ∀q ∈ [0, n[ \ {p} . τ i

q
kq

=

s⟨κi
q,kq

, θiq,kq
, ρiq,kq

, νi
q,kq

⟩ ∧ τ i
p
kp

= s⟨ℓ, θip,kp
, ρip,kp

, νi
p,kp

⟩}.

πi = ςi × Γ i
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rf
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 �����������������������������������������������rf�

0: { w F1 false; w F2 false; w T 0; }
{F1=false ∧ F2=false ∧ T=0} }
1: {R1=0 ∧ R2=0} 10: {R3=0 ∧ R4=0}

w[] F1 true w[] F2 true;

2: {R1=0 ∧ R2=0} 11: {R3=0 ∧ R4=0}
w[] T 2 w[] T 1;

3: {R1=0 ∧ R2=0} 12: {R3=0 ∧ R4=0}
do {i} do {j}

4: {(i=0 ∧ R1=0 ∧ R2=0) ∨
(i>0 ∧ R1=F2

i−1
4 ∧ R2=T

i−1
5 )}

13: {(j=0 ∧ R3=0 ∧ R4=0) ∨
(j>0 ∧ R3=F1

j−1
13 ∧ R4=T

j−1
14 )}

r[] R1 F2 {❀ F2i4} r[] R3 F1 {❀ F1
j
13};

5: {R1=F2i4 ∧ (i=0 ∧ R2=0) ∨
(i>0 ∧ R2=T

i−1
5 )}

14: {R3=F1j13 ∧ (j=0 ∧ R4=0) ∨
(j>0 ∧ R4=T

j−1
14 )}

r[] R2 T {❀ Ti5} r[] R4 T; {❀ T
j
14}

6: {R1=F2i4 ∧ R2=Ti5} 15: {R3=F1j13 ∧ R4=T
j
14)}

while R1 ∧ R2̸=1 {iend} while R3 ∧ R4̸=2 {jend} ;

7: {¬F2
iend
4 ∨ T

iend
5 =1} 16: {¬F1

jend
13 ∨ T

jend
14 =2}

skip (* CS1 *) skip (* CS2 *)

8: {¬F2
iend
4 ∨ T

iend
5 =1} 17: {¬F1

jend
13 ∨ T

jend
14 =2}

w[] F1 false w[] F2 false;

9: {¬F2
iend
4 ∨ T

iend
5 =1} 18: {¬F1

jend
13 ∨ T

jend
14 =2}



���������������������������������������������������������������������������������������������������������������������������������������������������������������������� ���������������������������������������������������������

����������������

��

invariance proof
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algorithm A
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� ����������������
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� ����������rf���∧�⟨𝑤�x��𝑣���𝑟�θ��x�⟩�∈�rf �� 
read x R { ↝ xθ�}�  
������←��θ���θ�←𝑣����rf���

� ������fence��������������������������������������������
� ������write R x������������������������������������
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specification
Scom ! ¬[∃i, j.[rf⟨F2i4, ⟨0:, false⟩⟩ ∨ rf⟨F2i4, ⟨17:, false⟩⟩

∨ rf⟨Ti5, ⟨11:, 1⟩⟩] ∧ [rf⟨F1j13, ⟨0:, false⟩⟩
∨ rf⟨F1j13, ⟨8:, false⟩⟩ ∨ rf⟨Tj14, ⟨2:, 2⟩⟩]]

at 7 ∧ at 16
⇒ (¬F2iend

4 ∨ T
iend
5 = 1) ∧ (¬F1jend

13 ∨ T
jend
14 = 2)}

!i.e. the invariants at lines 7: and 16: hold"
⇒ ¬Scom !since by taking i = iend and j = jend, we have

(F2i4 = false ∨ Ti5 = 1) ∧ (F1j13 = false ∨ T
j
14 = 2)"
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specification
Scom ! ¬[∃i, j.[rf⟨F2i4, ⟨0:, false⟩⟩ ∨ rf⟨F2i4, ⟨17:, false⟩⟩

∨ rf⟨Ti5, ⟨11:, 1⟩⟩] ∧ [rf⟨F1j13, ⟨0:, false⟩⟩
∨ rf⟨F1j13, ⟨8:, false⟩⟩ ∨ rf⟨Tj14, ⟨2:, 2⟩⟩]]
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rf co

po

co
0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

fr

rf
po

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

co fr

4 —fr→ 10 —po→ 13 —fr→ 1 —po→ 4
case 1: 0:F2,0:F1

14 —fr→ 11 —po→ 14
case 2a: 0:F2,1:F1 (2 —co→ 11)

rf co po
0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

co
frpo

fr
co

po

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

co

rf

11 —co→ 2 —po→ 4 —fr→ 10 —po→ 11
case 2b: 0:F2,1:F1 (11 —co→ 2)

2 —co→ 11 —po→ 13 —fr→ 1 —po→ 2
case 3a: 10:F2,0:F1 (2 —co→ 11)
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rf

po

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

co
fr

rf po

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

co fr

5 —fr→ 2 —po→ 5
case 3b: 10:F2,0:F1 (11 —co→ 2)

14 ---fr→ 11 ---po→ 14

case 4a: 10:F2,1:F1 (2 —co→ 11)

rf
po

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

cofr
�� ��

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

5 —fr→ 2 —po→ 5
case 4b: 10:F2,1:F1 (11 —co→ 2)

4 —po→ 8 —rf→ 13 —po→ 17 —rf→ 4
case 5: 17:F2,8:F1
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rf
po

cut

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

po

��

cut
po

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

po

7 —po→ 8 —rf→ 13 —po→ 17 —cut→ 7
case 6: 8:F1

16 —po→ 17 —rf→ 4 —po→ 7 —cut→ 16
case 7: 17:F2

� ����cut������������������������������cat���������������
��������������f[p0]�����f[p1] 

� ������� irreflexive fr;po;fr;po 

irreflexive fr;po 
irreflexive co;po;fr;po 

irreflexive po;rf;po;rf 

irreflexive po;rf;po;cut
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invariance proof
Scom !⇒ Sinv

inclusion proof
Hcom ⇒ Scom

consistency proof
M ⇒ Hcom

algorithm A

invariant
specification Sinv

communication
specification Scom

concistency
hypothesis Hcom

consistency
model M

algorithm A
proved correct

w.r.t.
Hcom and Sinv
Hcom !⇒ Sinv

algorithm A
proved correct

w.r.t.
M and Sinv
M !⇒ Sinv



���������������������������������������������������������������������������������������������������������������������������������������������������������������������� ���������������������������������������������������������

�����������������������
� ��������

� ��������������������������cat� 
��let fr = (rf^-1 ; co) 
  acyclic po | rf | co | fr as sc 

� �����������������������
��

irreflexive fr;po;fr;po 
irreflexive fr;po 

irreflexive co;po;fr;po 

irreflexive po;rf;po;rf 
irreflexive po;rf;po;cut
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rf
po

cut

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

po

��

cut
po

0:{ w F1 false; w F2 false; w T 0; }
P0: P1:
1:w[] F1 true 10:w[] F2 true;
2:w[] T 2 11:w[] T 1;
3:do 12:do
4: r[] R1 F2 13: r[] R3 F1;
5: r[] R2 T 14: r[] R4 T;
6:while R1 ∧ R2 ̸= 1 15:while R3 ∧ R4 ̸= 2;
7: f[p0] (* CS1 *) 16: f[p1] (* CS2 *)
8:w[] F1 false 17:w[] F2 false;

po

7 —po→ 8 —rf→ 13 —po→ 17 —cut→ 7
case 6: 8:F1

16 —po→ 17 —rf→ 4 —po→ 7 —cut→ 16
case 7: 17:F2
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π��
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✓
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✗
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��let fr = (rf^-1;co) 
  let po-loc = po & loc 
  acyclic po-loc | rf | co | fr as scpv 
  let ppo = po \ (W*R) 
  let rfe = rf & ext 
  acyclic ppo | rfe | co | fr as tso 

� ����������������������� 
  ⟨𝑤1,𝑟4⟩�∈ fr ; po ; fr ; po  
is ���������������������������⟨𝑤�𝑟⟩������������������������������
������������������ppo�

��
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0:{ F1 = 0; F2 = 0; T = 0; } 
1:  w[] F1 1            | 10:  w[] F2 1          ; 
2:  w[] T 2             | 11:  w[] T 1           ; 
3:  do                  | 12:  do                ; 
      f[fhw]            |      f[fhw]            ; 
4:    r[] r1 F2         | 13: r[] r3 F1          ; 
5:    r[] r2 T          | 14: r[] r4 T           ; 
6:  while r1 ∧ r2 ≠ 1    | 15: while r3 ∧ r4 ≠ 1  ; 
7:  (* CS1 *)           | 16: (* CS2 *)          ; 
      f[fhw]            |      f[fhw]            ; 
8:  w[] F1 0            | L17: w[] F2 0          ;

let fhw = (po & (_ * F)) ; po 
let fre = (rf^-1;co) & ext 
irreflexive fhw;fre; fhw;fre 
…

� ����������������������������fence���skip�
� ���������������������������������������cat�������������
� �����������������
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M and Sinv
M !⇒ Sinv
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